normalized X2

10

1072

107

Entries

—

34206
45

[ normalized x? probability |

0.5F

: [Entres
+ - | Mean
Std Dev

10
107
[Entries Entries 34158
Mean
o010 o By
T T
o o
0. . s 0.95 .
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
X2 Prob(x?)
T DOV T T OTTJMaREDT
m—— DOM~TTsignal_option0
— DOMTT signal"optionl
s DOM_TT__signal_option2
s DOM original_option0
D __original_option1
A
k=i
c
<
\
i<
T
o
A A F
S 2 18f-
Y 3< 1.6f-
v v E
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
o o G
T T
o @
0.5
C_3 S
10 107

1 -1
AR(track, jet?



	Contents
	Page 1


